o & x off thet o=}

D x+1=0
@ 2x2-6=—x

B 2 +2x4+1

lﬂo}z

A BF A2R?



2. oA AHA R tax+b=09 Nt x=2 x=-4Ld T, a+b 2
e orolet

B
=¥



3.

g % oA A el a7t B

@® x*-5x+6=0
® (x-1)2=8
® (x-1D(x+5) =0



X2 tkx+4k-2=

w4

173

o]

¢}

stofzt.

:’7_

1o
=2

Tot



5.

OIAPF A 222 1 (k+ 2)x+ 1 = 0 0] F2& 714 1, & o FL

e

D -1++2 @ 1+ V2 ® -2+ 12
@ —-1+2+2 B —2+2+2



r2L£

R

AFAHA (x-2)(x-4) =3 F (x+ p)? = ¢ 9 EE UL
gt} o] w, p + ¢ ©f B F5telet.

o



7. x7b-1,0, 19 o, oA AHA x* - 3x -4 =0 9] S|E F-5HH?

D -1 @ 0 31 @ -1,4 G4



)

® A+018IB=0

® A=01811B=0

)
H

® A=0181B+0

® A+018117 B£0



9. OolAFAA (x-6)(2x—1) =0°] =72

o o 1



[1]]

7]

@ x2-6x=0 © (2x+1)2=3

© 2x*=8x-38 ® (x+2)?2=22+1

® 271 @ 371 ® 47§




11.

ORI 2~ br—a = 0 o] FT

e

=g
=¥

o



o, @ + B <

5}
=

a, B

o
=

1
.

ol

® 6+2v2

@ 22

@D 6






® 6 3 0

@D 18






16. Th22 SHAATAL o] 85te] 3x2 - 6x— 21 = 0 9 TS Tl

Hrgolnt. &2 A2?

3x2-6x-21=0
FHSAZYFH P2 -2x-7=0
Frde FHeR oldstH ¥ —2x =7

FHo| BE HolH x2-2x+B=7+B

(x-C)?=D
x—C=+vVD
x=C=zE
D cb="7 @ A+B=5
®24-C=4 @ C-E=1+2

G B-E=1-22



0
0

\/\/
0 0

| I
NaPNL S

—~ —~

< <t

| I

= =

™ [ap]

~— S~—

o o o
Il I I
0 = =
+ I
= T =
S~—" x N—
A/~ = /N
NI o I
+ _ +
= F =
N——— - —



g4 xoll thsto] o2k

® 2 7|

® 3 7}

A X2 -5x+6 =09 i<

@ 4 7|

® 5 7



19.

)2 A 42 4 ax — 20 = 0 ©]

al
3x+b=029 A 4 p 0 GS ZH2F LS

@ a:17b244
® a=-1,b=-44

G a=-44.b = -1



E 24 bp+4
bx—T=0 2] gt <5 p 2pal & o, ap? +

I ax? +bx -7 =

0. oA A

i 9] 7k-& F-5foiet,

ge
»

2
rl



DO x=0E=x=3

0EEx=2

X

)
H



22,

~3=029]



X2 43x-4=0, 2+x-12

P 4]

o] Z
stolat,

_1]:_
:I]_

23.



ted2t.

o, 1 5<= 75

2]
=

oA A A 4x% —12x+a = 0 ©] T2 7}

24.



ol
RS
J
T

B -12

@ -5

® 0

@D 12



